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ΠΡΟΤΕΡΑΙΟΤΗΤΑ ΠΡΑΞΕΩΝ – ΕΠΙΜΕΡΙΣΤΙΚΗ ΙΔΙΟΤΗΤΑ
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A = 102+33-26+(2+3)3 =                             B = 32(23-5)-64
[image: image1.wmf]¸

(11-3)=

Α = 102 + 33- 26 + 53 =                                B = 32 (8-5) – 64 : 8 =          

Α = 100 + 27 – 64 + 125 =                      Β = 32 .  3 – 64 : 8 =
Α = 188                                                     Β = 9 . 3 – 8 =
                                                                   Β = 27 – 8 =
                                                                   Β = 19
Γ = 5
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                         Δ = 82+62+7(5-2)23=

Γ = 5 .  8 + 7 . 9 – 32 : 4 =                            Δ = 82+ 62 + 7 .  3 . 23 =                          
Γ = 40 + 63 – 8 =                                       Δ = 64 + 36 + 21 . 8 =
Γ = 103 – 8=                                              Δ = 100 + 168 =
Γ = 95                                                          Δ = 268
Ε= 
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Ε = 23  .  2 + 3   .  3 + 2 2  + 4 .  3 + 1 =
Ε = 8  .  2 + 3 . 3 + 4 + 4 .  3  + 1 =
Ε = 16 + 9 + 4 + 12  + 1 = 
Ε = 42
_____________________________________________________________________

Να εφαρμόσεις την επιμεριστική ιδιότητα

2x+3x= (2 + 3)x
5x-3x+7y-2y= (5 – 3)x + (7 – 2)y
7x-x= (7 - 1)x
2012+2010
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